FEIRBIFT M BRCR B L X REITHE (BHEXR)
<ERIKR> BFE: SM2EEICEEFE (H25) M i555.1%HIRE
5 tco2/kWh 36,826,689 kWh | 35,376,778 kWh
e XEHHY 21,458.00 tco2 14,405.63 tco2 67.13% 32.87%
=il GJ/kKI tc02/GJ 836,994 L 223281 L
L 39.1 0.0189 3.66667 2,267.94 tco2 605.01 tco2 26.68% 73.32%
waem  |GJ/K tc02/Gd 2573 L 2,858 L
L 346| 00183| 366667 597 tco? 6.63 tco2 |  111.06%|  —11.06%
KT 58 GJ/kKI tc02/Gd 537,206 L 119,256 L
L 36.7 0.0185 3.66667 1,337.37 tco2 296.89 tco?2 22.20% 77.80%
5 &3 GJ/kKI tc02/Gd 6,916 L 11,187 L
| RAE 37.7 0.0187 3.66667 17.88 tco2 28.92 tco2 161.75%|  -61.75%
LPG GJ/t tc02/GJ 137,846 kg 133,918 kg
L 508 00161 366667 41339 tco2 40161 too2 | 97.15% 2.85%
BRO—9R GJ/t tco2/GJ 1,743,100 kg 0 kg
L 204|  00204|  366667|  5524.44 tco? 0.00 tco? 0.00%  100.00%
AR |GV/1.000N [tc02/Gd 20,384 m 13902 m
L 460  00136| 366667 46.76 tco2 3189 tco2 | 6820%|  31.80%
B (Gt tco2/GJ om om
ARE 1.36 0.0570 3.66667 0.00 tco2 0.00 tco2 0.00%|  100.00%
Hyys g |G/ tc02/Gd 140,786 L 47,644 L
B L 34.6 0.0183 3.66667 326.86 tco2 110.61 tco2 33.84% 66.16%
2 smEm  |GJ/K tc02/Gd 67,455 L 29,244 L
L 37.7 0.0187 3.66667 174.37 tco2 75.59 tco2 43.35% 56.65%
BEMRAREHES 31,572.97 tco2 15,962.78 tco2 50.56% 49.44%
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12,349 ki

9,573 ki




